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NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers ?A.B,C.‘. & D to

1.1 Heavy advertising expense incurred to introduce new product is:

2

14.

16.

19.

20.

. Contra entry is recorded in Cash Book on the:

. If the nature of Pass Book balance is not mentioned it will be:

each question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in
front ef each question with Marker or pen ink on the answer sheet provided.

) e B S g SELE G 11
) Captial expenditure(;fdsL/ B) Revenue expenditure%.7 Jb (C) Revenue payment f BIGYL O Deferred revenue expense f fanyLJI;JI
Cash received from the sale of goods or stock in trade is: :?Jlﬁ?.i_ﬁf S E:g:_wifdl. 2
() Revenue receipt d»43UL  (B) Capital receipt st~ (C) Deferred receipt J(1# (O) Deffered Revenue Receipt L1

If cost of an asset is Rs. 300,000. Rate of depreciation is 12% (s ;r)«?:..:ul./m_j12(,}J£n '-g_arufuﬁcf Ud/oigﬁh‘!ﬁ 3
per annum. What will be depreciation: ‘

(A) Rs. 30,000 (B) Rs. 34,000 (C) " Rs. 36,000 _(D) Rs. 38,000

If sale price is Rs. 1,500,000 rate of gross profit is 5% per ?fﬁﬁfd’ru?_éﬁm};qu (‘frl&:‘az_’_»{ M158s 4801 4
annum. What will be gross profit?

(A) Rs. 75,000 (8) Rs. 85,000 ©) Rs. 65,000 D) RS 70000

An error which cancels the effect of other error is called: :c_‘Jkaﬁ-_ d/JT)}'II(Lﬁu‘ W97 (S L 5
(A) Compensating error:fk i N: Principles error# Sus (©) Error of omfssiundg‘ JJ;’J# (DPosting error & sl
Wages account posted to the debit of Rs 700 instead of Rs 7000. :’/OUE UV S d_a7002 L5 S 700026 mr 6
To rectify the error the wages account will be debited with: _Zq/@gifz_lfédmfiéé..fw»

A) Rs. 6,300 (8) Rs. 7,000 © Rs. 7,700 ) Rs. 6,700
The creditors of a business are called: :UELLL‘-': P T
(A) Assets = b 2k (B)  Liabilities =L2s  (C) Capifall | = (D) Income iaT
It'is the price of goods sold or services provided by a business o its customers: :..f._t/f A fzé_lxgub’;?‘a.:af J..:.L.u;ga;ig’dl,,, 8
(A) Assets = b 26 (B) Cost =1 (C) Capital -\ - (D) Revenue /4T
The difference between sale price & purchase price of merchandise IS&0d8d in: < tb U T70 ¥y 7ed shess fmd S il 9
(A) Assels =bitl  (B)  Liabilities =l2ih ((C) Cash J* (D) Capital
. Capital + liabilities - assets = Skl -+ L 10
A) One{i (8) Twos ) Zero 3 ©  _ Theecd
. Real accounts relate to: 8 beFe KU 11

(A) Assets & liabilifiesc=i213s= b2kl (B) Capital A (C) Expenses algff'f (D) Revenue U 4T

. The book which cantains a classified recafd of dll iransations is known as: :‘T_Jlk(w‘_ EL bl T uﬁnmpuﬁdjgufrﬁu&,ﬁ TRY;

®  Joumal £t (B) Pedger /2 (C)  PassBook UL (D) CashBook L2

- “he cheque for which payee has to give Nis identification to ~ :c_ns J:;JI/ =3 l-ﬁu';!ﬂﬂf)ﬂi LiJ)AbS G 13

bank for receiving the amaunt is:

() Bearer cheques®z /) B Crossed cheque—Gsx®U) (C) Order cheque h.éo‘g (0), Blank checque —Gz6
Cheque books§¥iot isstied"By the bank for: ek Gl L 5 14
(A) Fixed deposit accouni,:w/:,.u/" (B) Current account :l[d;L-v (C) Saving account ,.-Lel/.:,;/f (D) Foreign cumenc account:b@"ff /;"
Credit note is the basis for recording transactions in: R 1 if.g_': Joi sk _*..:Lt,»:/ 15
() General journal .#tiset (B) Cash Book ¥ (C) Purchase retum book % 7571 (D) Sales retum ook <z, 571y
JJJ—'—';.. Gl FiContra 16
(A) Debit side %Lz} (B) Creditside #L-22/ (C) Both debit & credit side)‘ftf:»é/c:u.—_e.iu:‘u (D) Any side -
Credit balance of cash book is called: e mu"‘}-"._béf KL J‘—/ A7
(A) Favourable balanceu"'-l-"jlr (B) Unfavourable baianceu"‘l—"f)"ir/f (C) Positive balance u"‘-’-w (D) Negative balanceuj-"d')

b IS L LN 18
(A) Overdraft balanceu'd-"\:}l;bul (B) Debit balance J"Emi (C) Credit balance u"-‘%é/ (D) Unfavourable balgnceu"&'?lf/i
When a bill is dishonoured, the holder goes to an official called: < t‘quJ:J‘L boU L LA e B S 19
®) Agent 41 ®  EndoserssdF” () Drawerss’lzr (D) Notary public s
Interest on renewal of bill is expense of: N e vy k .q“d/ Sk 20
(A) Drawer oﬂ/.._.}‘/ (B) Drawee .JI_>/ (C) Endorser a4, g (D) Endorsee.glf
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2. Write short answers of any five parts of the following: (2x5=10) éf/ /.....»Lli/‘ff_rl? Iéta_.dfa, L (J’;Z/.u 2
i. Define Real Accounts. _J/J/’Juibff i
ii. What are Cash Sales? Sl e wi ji i
iil. Describe the term Accounting Equation. S Sl B et i
iv. How capital is calculated with the help of Accounting Equation? fe bl IJES'd“; { /g:_;,aJ:,f;l/..Jf’»’f{ I v
v. What is meant by Cash Book? Sest U U
vi. Define Contra Entry. ﬂqfs.dgf/gJﬁ,wa:{? i

vii. Describe the term Bank. S et i
vili. Explain the term pay-in-slip. Y Szl g e i
3. Write short answers of any five parts of the following: ~ (2x6=10) .2, fuLlf/‘iﬁ,ﬁl}'l‘éLLdfc, Lukigs 3

i. Pass Journal entry for discounting of bill of excange. - 7 Ld/U /J tbﬁ;,fujy i
ii. Differentiate between trade bill of exchange and accommodation bill. ;_f BIPS LAY dﬁed;k i
fii. What is meant by omitted cheque? el B £ i
iv. Why bank ;econcfliatfon statement is prepared? q_t’bbﬁbu/ ol J‘l’iﬂn’é Jdv
v. Give two examples of revenue expenditures. _q/uw" l”/ulf.._fiplﬂdUL v
vi. If sales = Rs 60,000 and cost of goods sold = Rs 50,000 calcuate gross profit. -/ /?,J"‘ C’,Lzrb :‘L:»J,-S(]a./lx»] ‘_J’IJ»L»;I/EOLJ;I/J:/)’ i
vii. Write four kinds of book keeping errors _J/ fr'UUL:JUrM‘JdeuL? il
viii. What is meant by double sided errors? Sl U sl by i
SECTION-II (29052
Note: Attempt any three questions from the following: (20x3=60) :U:/J’ c U’)’L‘}FC_-JJ(L e J Sl nd
4, Journalize the following transaction of Mr. Ali: -L//(E/JJJ'/JJL}JJ Slh b Jd“/-/ 4
i. Started business with cash of Rs. 150,000/-. gty Ty KLL:ASO 000/~ i
ii. Bought furniture for Rs. 5,000/-. _LJ’UJ/ /KL_:JS 000/~ i
jii. Purchased goods from Bashir Rs 4,000/ u‘{b e / /u’ /JL:AOOOL Jii
iv. Sold goods for cash Rs. 3,000/-. =53 1) 22,3000 iy
v. Goods returned to Mr Bashir Rs. 500/= ~UL Ju‘ ls f/u‘ /Jd_.uSUO/ v
vi. Goods given as charity Rs 1,000/-. J%)/J)béw ,Zu’ ,_7[}1_»1 000/~ .vi
vii. Goods sold to Mr Shan for Rs. 5,000/-. Hes ity 1 28236000 i
viii. Received cash from Mr Shan Rs. 5, 500/- & allowed him discount of Rs. 500/-. uf gL d..uSGG_uirfrf d:":z_:;SSUGI B i
ix. Purchased machinery forcash Re» 10,000/~ -G/ [5;%_5//_»10 000/~ .ix
x. Paid salary Rs 2000/~ and Rent Rs. 1000/-. ‘LJ/bL,i/e._MOOOAI/u}’:ﬁui f.d_uZOOO X
5. Prepare a bank reconciliation statement from the following information :,sJ....L;l”J )Z/JJL{JJ)}J'A'}U/ £ 20236;(.31 5
of M/S Shehzad Traders on 31st March 2023: a’:;l« u.."b}ﬂrf ...C o~
i. Balance as per cash book debit Rs. 8700/, g Jbi.fujgd_uru{/ J;B(’_Jf i
ii. Cheque issued but not presented for payment of Rs. 700/-. s &f. “b uﬂ W LSJEAZ.LF bl.ﬁﬁ.umﬂé" Ji

iii. Bank charges Rs 200 not recorded in cash book. oY a_fu“" [0~ ..f uf 7 La._C d..uyué’ Jii
iv. interest on investment collected & credited by bank in pass book is only Rs 400/- “Lfb? e WL Urad_ ok :rzdﬁ Lt surile lv(,lf iV
v. A cheque of Rs 500 received and deposited in bank but not recorded in cash book, -L/U# t/7 [Pe u'"/ uﬁ Y J e JIK&.J;SOG(J’ v
vi. Cheques deposited Rs 2000/~ but not credited by bank. LUE d_..ﬁgp v u"ﬁ’[_z_wv»b"‘ vi

6. State the nature of expenditure, capital or revenue with reasons: Y 4 L‘a:f{ "2 7 dytgu"d:t /J’ ;Z,_uf u/@u 6
i. Employees insurance premium paid . (F IJ*JA)J,{AZL.J‘ b
ii. Profit earned on sale of old machine. _Bi_ s ey j S0 i

APk i

iii. Purchase of patent rights.
iv. Wages paid to factory workers.

B afaks B
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V. Repair and renewal of plant, Ie . //"___ Y B bLslen g o
vi. Discount on issue of debentures. ~ A 1AL 2
vil. Legal expenses paid to defend trade mark. 809 G‘igﬁ(, 6o L E S
viii. White washing expenses on old building. - &S i1/ d,{-ﬁf[,(azl.fdl{
ix. Purchase of refrigerator for use in shop. 4 P8E S8 L I L
x. Freignt paid on pruchase of stock'in frade. ~ASC 1S b"%,s,,j"d,:.ulﬁjl.
7. Pass journal entries to rectify the following errors in the hooks of Malik Traders: NN L}be&ﬂ.ﬂg Goadbibif iz
i. Goods distributed as charity Rs. 500 were not recorded in the books. N : d:'fimuf ;@.»500&; gﬁl %ﬁfﬁ& .:.«f_/éf i
. Gash received from a deblor Rs. 700 was posted to a creditor's account, -5/ &Jlﬂ;b@eléu";u_fg_ﬂﬂoéf 6 Jdﬂ:c,&}qﬁ
i. Bills receivable book was over casted by Rs 2400/- _;L,u.’u%uzemo&-‘a,d’u:f_JJ}u:{t;,,Lugiadm JoTi
iv. Drawings made by proprietor Rs. 18000 were charged to his personal account, HL,?%J/ Z-,»ui‘:lfd'uzij bed1/18, 0003’7 oz
v. Carriage of goods Rs. 1600 was charged to purchases account. _lfl,‘/ (B @uj:l[{_;:ﬂ 50051;,;,( AR
vi. Utilty bills paid Rs. 25000 were not recorded in the books, JEet it 250008 S A i
vii. Goods lost by fire Rs. 2000/- were recorded as goods lost by theft. /] Lr‘/fyﬂ._pr}{’é:cjlaﬁc.(.d)gé..u?bﬂﬂé%hﬁyf P o ST
vil. Sales book was under casted by Rs, 1300/-. s 13008 e P i fi Koy jstins
ix. Credit purchases from Mr. C Rs 2300 were recroded as credit sales. Jf U@;;{ML'&;/'MJI:Q_;JES(]'OE‘,{T Uil - _C

8. On March 1, 2019, Al sells goods to Zain for Rs 30,000 Alldraws a Lkl ey s S 530 00040 201944
four month bill on Zain. Zain accepts the bill and retums it to Al, ko fphx/"*ﬁ t_d)‘)ﬁﬂ‘l_ﬁhﬁ'(./gidjfi_u{LJdﬂgdﬁrﬂ_
However, on the due date the bill is dishonoured, Pass the journal _u_ffu'ln. = ;:,Ubufj._wwyl;ﬁzuf-.__ﬂ/ JJ‘.C&: -
entries in the baok of Ali in the following cases: .

| Al retains the bill unti the due date, S BLe 16k EEto, M |
i Ali discounted the bill with the bank for Rs 28,500/-. ‘R @FJA‘ﬁrL:/?BﬁQQJﬂ LeSkE i

iil. Ali endorses the bill to Hassan. SIS Cati S

iv. Ali sends the bill to the bank for collection. W A WA NS

9. Following is the trial balance of Zain Brothers, prepare Trading and Profit uh’@c‘fﬁ;@;,&"f 2015 /:6314.,;_&6»‘_}"{’07)()»!45{)

and Loss Account and Balance Sheet as on 31st December 2015, SNBSS
Particulars o Debit Rs. Credit Rs.
Cash g 5000
Machinery (o 20000
Sundry debtors ulbay 16000
Stack 22501 10000
Salaries sy 15000
Rent 4 2000
Wages L 3000
Plrchases & 36000
Sales return =By A5l 1000
Drawings u@b.a: 2500
Capital A 30500
Sales =3/ 50000
Purchases return & (5%l 2000
Sundry creditors EYS 28000
Total i 110500 110500
Adjustments o
i. Closing stock Rs. 25000, ~23s250000, 258 (51
ii. Outstanding salaries Rs. 3,000/- & 3/3000- 81 F b2l
iii. Depreciate machinery by 10 percent per annum. ) - umémbﬂ,-){g,:_é‘ i

iv. Pre-paid rent Rs. 500/- / <) -é____uﬁﬂﬂc,lzgﬁblﬁ i
896-11-A

X
X. Addition to machinery Rs. 20,000 were charged to furniture account. ugf L:Jtﬂ:uz 5‘,&;»20, 00087,5&!9#;&,”@ =
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